Unit 2, Station 6, Round 2,

Task 2

Order of Operations (E)

Name:

Date:

Simplify each expression using the correct order of operations.

(4x8)+(2+9-3)
=32+(24+9-3)
=32+ (11-3)
=32+8

=4

(4+8)+3x9-6
=12+3x9-6
=4x9-6
=36—6

= 30

(I0—4)x(8+2)+5
=6x(84+2)+5
=6Hx10+5

(3x6)+(5-4+8)
=18+(5-4+8)
=18+ (1+8)
=18+ 9

=1

.

+(9-7)x3+5
=4+2%3+5
=2x3+5
=6+5

11

(I0—6)+4xT7+2
=4+4xT+2
=1x742
=742

Il
o

—

9+3)x10+5-6
=3x10+5-6
=30+5-6

=35—06
9

]
[

(24+46x5)+(8-T7)
=(2+30)+(8-7)
=32+(8-7)
=321

= 31



